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QUESTION 1

You want to have a NetApp FlexVol that can both grow and shrink dynamically as required by current capacity needs.
Which settings will enable this feature?

A. This can beenabled with the grow_shrink volume autosize mode

B. This can be enabled with the grow volume autosize mode.

C. This can be enabled with the modify volume efficiency option.

D. This can be enabled with the inline-compression volume efficiency option.

Correct Answer: A

QUESTION 2

You have successfully deployed a primary and a secondary ONTAP cluster. You want to set up an intercluster
SnapMirror relationship between your primary and secondary sites.

In this scenario, which two actions are required before accomplishing this task? (Choose two.)
A. NDMP must be enabled.

B. The SVMs must be peered.

C. The primary and secondary clusters must be peered.

D. The Snapshot schedule must be configured.

Correct Answer:. AB

QUESTION 3

The primary and secondary clusters are fully configured. You want to set up an inter-cluster SnapMirror relationship.
Which two actions are prerequisite to accomplishing thistask?

(Choose two.)

A. The SVMs must be peered.

B. The primary and secondary clusters must be peered.
C. The Snapshot schedule must be configured.

D. NDMP must be enabled.

Correct Answer: AC
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QUESTION 4

You are given the vsadmin account credentials for an SVM that is delegated to you by your organization\\'s shared
services group. You are asked to verify that all of the volumes in your SVM are protected with SnapMirror.

In this scenario, what would you use to accomplish this task?
A. OnCommand System Manager

B. OnCommand Unified Manager

C. XCP

D. CLI

Correct Answer: D

QUESTION 5

Click the Exhibit button.

Supported Adapter Cards - FAS9000 (Single Chassis HA Pair (FAS9000A)) 9.5 ONTAP

Priority | Category Bus Type Mktg Part No. | Mfg Part No | Description Optional Module | Supported Speed(s) Min ONTAP Max Qty ::2“;’::::
\ssignment |
9.1RC2. 0.2RC1
1 NVRAM 10 Module | X93140A 111-03190 | NVRAM10 32GB Not supported 9.3RC1.04RCT. |1 6
9.5RC1.
9.1RC2. 0.2RC1. e
2 Networking 10 Module | X91440A 111-02500 | 2p 40GbE NIC CulOp | OSPF Optional | ETH: 10/40 Gbps 93RC1.04RC1. |8 B
9.5RC1. e h
z FC: 8/16/32 Gbps 9.3RC1. 0.4RC1. 9,1,10,2, 11,
3 Block Access | 10 Module | X91135A 11103780 | 4p 32GbFCSFP+Op | SFP+ Included | =\ ™ PP | 2o 8 e
9.1RC2. 0.2RC1.
FC: 8/16/32 Gbps 9,1,10,2, 11,
4 Block Access | 10 Module | X91134A 111-03431 | 2 p32Gh FCOp SFP+ Included | L'\ 62 Gbps :.3:2:. 9.4RC1. |8 il
9.1RCZ. 0.2RC1.
5 Performance | |5 pogule | x9170a 111-00421 Hash'Cache. 1-01H Not supported 9.3RC1.9.4RC1. |2 61, 62
Acceleration NVMe, Module 9.5RC1
9.1RC2. 0.2RC1
6 Performance | 1, 1ol | x0172A 10800423 | Fash Cached.0TB Not supported 93RC1.04RCI. |2 61, 62
Acceleration NVMe, Module 9.5RC1
9.1RC2. 0.2RC1.
- Ap 16Gb|10Gb UTA2 : ETH: 1/10 Gbps 9,1,10, 2, 11,
7 Block Access | 10 Module | X91143A toser | o SFP+ Optional | L4616 Giops :,::g.g.mm. 8 s
9.1RC2. 0.2RC1.
2 : 4p 16Gb|10Gb UTA2 : ETH: 1/10 Gbps 9,1,10,2, 11,
8 Networking 10 Module | X91143A trozzer | RO SFP+ Optional | 40116 Gos ;.3:3. 9.4RC1. |8 iiEs
9.1RC2. 9.2RC1. 9, 1,10, 2, 11
9 Networking 10 Module | X91120A 111-02399 | 4p 10GBASE-TNIC | Not supported | ETH: 1/10 Gbps 93RC1.04RCI. |8 el
9.5RC1. -
P FC 8/16/32 Gbps 9.3RC1. 9.4RC1. 9,1,10, 2. 11,
10 Storage 10 Module | X91135A 11103789 | 4p32GBFCSFP*Op | SFP+ Included | [ Cpu SRS e 8 Sird
9.1RC2. 0.2RC1.
< 4p 16 Gb|10Gb UTA2 - ETH: 1/10 Gbps 9,1,10,2 11,
1 Storage 10 Module | X91143A tiome7 | o SFP+ Optional | L4 2116 Glops g,:ﬁg.g.mct 8 o b

A customer needs to add an additional X91143A card into a FAS9000 to allow mirroring between the production system
and the disaster recovery FAS9000 platform. Slots 1, 4, 6, 8, and 9 have cards in them.

Referring to the exhibit, in which slot should you install the card?

A5
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D.7

Correct Answer: D
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